Principali sviluppi di Taylor centrati in zo =0

= (1+2)" = i (Z) " +o(z") = 1+ax+ a(a; 1):E2+ afe 13)'(a - 2)x2+0(x2)
— ! !

w(1-2)"t = I+t ot +o(z?) w(1—2)7? = 14+20+32° +42° + 50" +o(a?)

w (14 2)? = 1+§—%2+%+0(x3) (1 +2)7 2% = 1—§+3%2— 51—x63+0(:c3)

(14 2)3 = 1+§—%2+2—f+o(x3> w(142)"8 = 1—§+2§— 1;1“1”3 +o(z%)

@ex:kzi%%jto(x") :1+z+2—?+§—?+i—?+z—j+o(:ﬁ5)

i Jog(l + ) = kz: (_1);_1xk +o(a") =2 — %2 + %3 — %4 + ; + o(z”)

1 sin(x) = k; % Fo(a??) = ¢ — 2—? + z—f - i—: + o(x®)

= sinh(z) = ; % + o(z?"?) =z + ?—? + :;—T - i—? + o(z®)

15 cos(x) = kio % +o(x* ) =1 - :;—T + Z—? — 2—(; + o(z")

i cosh(z) = kio (;Z)' +o(z2 ) =1+ Z—T + Z—? + 2—? + o(z")

i tan(x) = x+%3+21—§+%+0(z8) i tanh(z) = x—%3+21—f—%+0(z8)

= arctan(z) = ,;0 % +o(z?"?) =1 — %3 + %5 - %7 + o(z®)

i arctanh(z) = %log (1 1L i) _ kizo Qx::rll Fo(a?+?) = x+%3+%5+77+0(x8)

i arcsin(x) = x + %3 + ?:l_xo‘r’ + i)Tx; + o(z®) i arccos(x) = g — arcsin(x)

w(142)" = 1+x2—%3+5%4+0(:c4) w(142) " = e—% 112652 —?—? o(z?)



